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The ilustration below shaws how a gardening company defines the sizes of s gardens as well as how it puts
stepping stones around the outside of each.

" ] 1) Fill the table below with values for gardens of given | —
size| pattern | ¥ e et e B 5"4;0
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2)  Explain how the three algebraic expressions that you
created in the bottom row relate 10 the gardens.
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stones are required fo a garden of size 100. Does the result make sense? Exphain your reasoning.
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‘The flustration below shows how a gardening company defines the sizes of its gardens as well as how it puts,
stapping stones around the outside of each.

1) Fillthe table below with values for gardens of given
| sizes. Then, generaiize by writing an algebraic

size | pattern
i e [ expresson that couid be used to calculate the
5] o number of stones needed for a garden of size .
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4 Use your simpiiied expression for the number of stones needed to evaluate and determine how many
stones are required for a garden of size 100, Does the result make sense? Explain your reasoning.
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‘The llustration below shows how a
stepping stones around the outside of

fening company defines the sizes of ts gardens as well s how it puts

g 1) Fillhe table below with values or gardens of given
|size | pattern - | sizes. Then, generalize by writng an slgebraic
expression that could be used o calculate the
number ofstones needed for a garden of size .
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2)  Explain how the three algebralc expressions that you
created in the bottom row relate to the gardens.
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4) Use your simplified expression for the number of stones needed to evaluate and determine how a
stones are required for 3 garden of ize 100, Doeslhe result make sense? Explain your reasoning.
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The illustration below shows how a gardening company defines the sizes ofis gardens as well as how It puts
stepping stones around the outside of each.

I 1) Fill he table below with values fo gardens of given
|size| pattern sizes. Then, generalize by writng an algebraic
0. expression that coul be used to calulate the
)V number of stones needed for a garden of size .
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4 Use your simplified expression for the number of stones needed to evaluate and determine how many
stones are required for a garden of size 100. Does the result make sense? Explain your reasoning. A
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The ilusration below shows how a gardening company defines the sizes o it gadens as well a5 how it puts
stepping stones around the outsde of each.
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2) Explain how th three lgebralc expressionsthat you
created n the bottom row rlate tothe gardens.
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